DRAWN BY

TRACED BY

DESIGNED BY

QUANTITIES BY,
CHECKED BY

ORIGINAL | SURVEY PLOTTED BY

PLAN
NOTE BOOK

No.

NOTES (STRONG POST W-BEAM IN ROCK):

. Backfill of drilled holes shall be with compressible
material, ASTM C33 Coarse Aggregate, Size No. 57.

2. Elongated 21-inch long hole can be accomplished by
drilling three 8-inch diameter holes at 6 1/2-inches on

center. 5 5
Case | Case 2 with Recessed Nut °
@ N1
< < 3.
< <
S By A EXPLODED VIEW
P ngiiﬁiﬁ%ﬁﬁi ﬁ&éﬁ% A (Rail and washer not shown)
5 STEEL POST AND BLOCK DETAIL 4
Sl T B 5.
Y Offset Block or Blockout
R ] | ASTM C33 Coarse Guardrail —= Guardrail Post
Soil ) Rock or AC | . Nagregate, Size No. 57 ardra ardra 6.
A = ==
8// § — /]L
© Fill/Seal Around FPost
| | ~ (See Note No. 6)
2/// 27// 8// 1,
. (A) Ranging from 18-inches to the P AN
Plan View Steel Posts ——
. , , embedment depth of the post, depth /.
Either Hole Configuration Acceptable of required drilling (B) is equal to E.5. Additional
(4) Ranging from 0 to 18-inches either 12-inches or the desired Paved Shoulder Paved Area* ]
1o Dot of e Driling ST S P e 0o "o
IS £qual To z4-1nches. )
41" Min. 2
OVERLYING SOIL DEPTHS OF OVERLYING SOIL DEPTHS OF (See Note No. 8)
0 70 I8-INCHES I8 TO 42-INCHES | \ 10.
| 2'-0"| Min. §
— — = dp O
STRONG POST W-BEAM GUARDRAIL IN ROCK < | Gr aa<7{8 F‘f/ /%gacf :
|
(See Note No. 7) g i
Type III or IV Retroreflective +| Guardrall—= - °
— Reflector Marker (RM-5) - Reflector Sheeting (High Intensity); Post AC,
Facing [raffic (Moum‘ed on Guardrafl Color of Retroreflective Slope Filler
Between Posts with FBBOI) Sheez‘/'ng shall Conform to the CO/?]‘, 1-0" /Brgak
. ,Color of the Adjacent £dge Line = 7| ot
o3 | At | | Fill Slope
4 Pav't. L %.X %A ]5 agrt’v T |2 Max
2 Design L J ° x U
Parabolic Rounding existing
\ . . . ground
g Slot M x D Prior fo Installing PMA Mix No. IV or V,
N7 ° Level ¢ Remove Vegetation and Compact |
Approved Plastic Product

REFLECTOR MARKER (RM-5) DETAIL AND TYPICAL INSTALLATION

Offset Block or Blockout
(See Note No. 4)

Strong Post

(PWEO!) -
(PWEO2) _
. FBBO3 Guardrail Bolt

Existing Ground to 957% Compaction
ELEVATION

[YPICAL GUARDRAIL INSTALLATION

FED. ROAD STATE FED. AID FISCAL SHEET TOTAL
DIST. NO. PROJ. NO. YEAR NO. SHEETS

awai | Haw. | HSTP-01900018) | 2022 | 9 70

GENERAL NOTES

I.

All hardware, posts and fasteners shall be hot-dip zinc
coated galvanized after fabrication. No punching, drilling or
cutting will be permitted after galvanizing.

Where conditions require, special post lengths in increments
of 6 inches may be specified by the Engineer.

All fasteners, posts, and rail elements (i.e. FBB03, PWEODI,
RWMO4b, efc.) shall conform to the lafest edition and
amendments of "A Guide fo Standardized Highway Barrier
Rail Hardware”, a report prepared and approved by the
AASHT O-AGC-ARTBA Joint Cooperative Committee,
Subcommittee On New Highway Materials, Task Force 13
Report. Dimensions of fastners, posts and rail elements have
been converted from mefric units info their present form.

T'he Blockout or Offset Block shall be approved by the Stafe.

All new guardrail systems (system consists of total length of
guardrail including both end freatments) shall include the
Additional Paved Area.

After the guardrail posts are installed in the paved area, the
Contractor shall fill/seal around each quardrail post and all
cracks in the paved area caused during the guardrail post
Installation. If required by the inspector/engineer, the
Confractor shall famper the paved area around the guardrail
post prior to filling/sealing. All costs associated with this
work shall not be paid for separately, but shall be considered
incidental fo the various guardrail items.

When standards for the fill slope area cannot be mef, a site
specific, engineer approved design may be used.

Minimum working width (clear distance) befween back of MGS
post fo any fixed object is 41" (49”).

New Polymer Modified Asphalt (PMA) pavement at guardrails
shall extend 6 feef longitudinally beyond terminal ends.

Reflector Markers (RM-5) mounted on guardrails shall be
spaced every 25 feef. RM-5's shall not be installed on
Terminal Sections. Furnishing and installing of each RM-5
shall be considered incidental fo the guardrail system.

All costs associated with fill slope area work shall not be
paid for separately, but shall be considered incidental fo the
various quardrail ifems.

GUARDRAIL TYPE D/g ME NSHZ\N

MGS w/ Standard 8" Offser Block 21" /'-6"
MGS w/ No Blockout 2" | 9y

STATE OF HAWAII

DEPARTMENT OF TRANSPORTATION
HIGHWAYS DIVISION

GUARDRAIL DETAILS AND NOTES
MAMALAHOA HIGHWAY

Licensed
Professional
Engineer

o sipaniaan "o conshiudton ot SAFETY IMPROVEMENTS

project will be under my observation. Easf and WGS?L Of Puuwaawaa Ranch
%,%m Federal Aid Project No. HSIP-0190(018)

Expiration Date of License 4/24 Sca/e.' NTS Dafe.' JU/y 2022

SHEET No. / OF 7/ SHEETS

O




SURVEY PLOTTED BY

DRAWN BY

TRACED BY

DESIGNED BY
QUANTITIES BY.
CHECKED BY

PLAN
NOTE BOOK

ORIGINAL

No.

//_0//4//

(+%5")

Slot (typ.)

v Offset Block or Blockout NOTE: 4"
Guardrall —= - : All Holes are %5
Guardrail Post 3" Dia. WEX8.5
Structural
/\ ==ty | Shape e
O %‘ Ll_ 3/ 1
& 57/8// 2/8 1
<
ID—: 75/8// 57/8// \ 3/4//
| N IR
, i oo
o
PLAN X olld
RWM0O4a Offset Block or Blockout © J !
. oo
/7 PWEO1 | oo
- QN
£ F
R S|
R | A o
Ground — Lyl [~ Ground
\ ¢ FBBO3 /< ! ine \ — A —_— [ Line
G\j S NN N CDE'G\;) ORI XN
GUafdfa// /D037L é} é 2 :?r ?% :_fJ'Lf_: A X O/,. 9/_0// Whe/.e
Ground Line ™ :; 3 Specified
\ g
N N N ININININZHINN OSSN SIS é :Q
R gj LR, E;H
Y
SIDE FRONT
SECTION A-A WIDE-FLANGED GUARDRAIL POST
(PWEQI)
/3/_6]/2// )
N
6/_3// 6/_3// l 6/_3// . C\I_
Rail Bolt Hole ¢ Rail Bolt Hole Rail Bolt Hole mT r
Lap in Direction ™
L __A - of Traffic \ | 1 | _
\ S 3 Tleme o
|| - N — | NS Post Bolt Slof
3 round O
N B Ry b — . 0 | l\\; ¢ 1547 x 134
T 0 L= Wide-Flange T TO“) e 6 6
A {7 Guardrail Post (07
8-F BBO!
Splice Bolts < TRAFFIC
ELEVATION

MIDWEST GUARDRAIL SYSTEM WITH

STANDARD 8" OFFSET BLOCK (SGR4/)

FED. ROAD
DIST. NO.

FED. AID

STATE PROJ. NO.

SHEET
NO.

FISCAL
YEAR

TOTAL
SHEETS

HAWAII Haw. | HSTP-0190(018) | 2022 |\ADD. 10| 70
5//6// 5/
V50" %
B . < X 1" Dia. x V"
M =] 3] H6 = Recess ot
: o Mod. Heavy Sides —
L 7 Hex Nut
A\
N
DESIGNATOR L i _
FBBO1 134" w —
FBRO? o —
1/1 11/ 1
FBBU3 0’ i 7
GUARDRAIL BOLTS AND RECESSED NUT
LEGEND FOR
AS-BUILT POSTINGS
A A AN Squiggly line for
FYVY as-built deletion
Double line for
" as-built deletion
Text for as-built
Roadway :
posting
BASE METAL
DESIGNATOR THICKNESS
RWM04a 12 Gauge
13-615"
3/_]/‘/2//
|
D D |
= = lv
P P € P
2,, 4//4// 4//4//
D 9/9/22 |\ Revised Note
875 Date | Description

4 SPACE W-BEAM GUARDRAIL (RWMO4a)

Licensed
Professional
Engineer

This work was prepared by me or under
my supervision and construction of this
project will be under my observation.

Expiration Date of License

4/24

STATE OF HAWAII

DEPARTMENT OF TRANSPORTATION
HIGHWAYS DIVISION

MIDWEST GUARDRAIL SYSTEM

8" BLOCKOUT

MAMALAHOA HIGHWAY
SAFETY IMPROVEMENTS
East and West of Puuwaawaa Ranch
Federal Aid Project No. HSIP-0190(018)
Scale: NTS Date: July 2022

SHEET No. 2A OF / SHEETS

AS-BUILT

ADD. 10




SURVEY PLOTTED BY

DRAWN BY

TRACED BY

DESIGNED BY

QUANTITIES BY,
CHECKED BY

ORIGINAL

PLAN
NOTE BOOK

No.

FED. ROAD STATE FED. AID FISCAL SHEET TOTAL
DIST. NO. PROJ. NO. YEAR NO. SHEETS
Hawail | Haw. | (HSTP-0190(018) | 2022 | 11 70
Guardrail Post
Offset Block
- or Blockout 0 . _ —
| ] | | ] |
{ E ° | E ° E ° {
< TRAFFIC
PLAN
Strong Post Guardrail Midwest Guardrail System ~ Pay Limit
28" - 11b"
Midwest Guardrail System (MGS) Transition to Strong Post Guardrail
5/_3// 6/_3// 6/_3// 3/_/y2// 5/_3// 2/'7” 7LO 7_0,0 Of Ra//
2"-3%" to Top of Rail =
- _ — e
[ — == ° [ ° =
a== el \ . Ground Line or
Mid Span Shoulder Surfacing
| Splice | under Rail Element
N N N i N
ELEVATION

Licensed
Professional
Engineer

This work was prepared by me or under
my supervision and construction of this
project will be under my observation.

Y o

Expiration Date of License 4/24

STATE OF HAWAII

DEPARTMENT OF TRANSPORTATION
HIGHWAYS DIVISION

MGS TRANSITION 10

STRONG POST GUARDRAIL

MAMALAHOA HIGHWAY
SAFETY IMPROVEMENTS
East and West of Puuwaawaa Ranch
Federal Aid Project No. HSIP-0190(018)
Scale: NTS Date: July 2022
SHEET No. 3 OF 7/ SHEETS

11




See Detail A

397" Siraight Fiare

FED.ROAD | oo\oo FED. AID FISCAL | SHEET | TOTAL
DIST. NO. PROJ. NO. YEAR NO. SHEETS
awai | Haw. | HSTP-01900018) | 2022 | 12 70

SURVEY PLOTTED BY

DRAWN BY

TRACED BY

DESIGNED BY
QUANTITIES BY
CHECKED BY

ORIGINAL

PLAN
NOTE BOOK

No.

A
T~
! -\ L/
|| I N————" _ C f, h
A ) D
af) . . o o
Rail Exit on Length of Need ﬁ
Traffic Side M, (8)p, (8)g, (8)r) S \V\
\
PLAN
TRAFFI C»
MGS Guardrail
. \
] [T — | — — —= — = = —= = = —= —= \
— St = S = = = = —— = = A\
— | __—— = — — — == — — \\
;AD , m \
o [k | X = _4%
See Detail B \ Hinge Bolt on \@>
\ Downstream Side - - - | =
Soil Plate on of Fost Hinge Bolt on (8)d, (8)h
Downstream Downstream
@/ Side of Post \@ @/ Side of Post
ELEVATION
|| 5 i
Washer
ITEM | QTY BILL OF MATERIALS ITEM NO. Attached
A | 1 [ FLEAT IMPACT HEAD MF3000 fo Bolf d, N
(a, (2)b, c
B | 1 |FLEAT ANCHOR RAIL 12'—6" SF1303 V
C | 1 | FLEAT SECOND RAIL 10°-5" F1324 AT —)
D | 1 |FLEAT THIRD RAIL 13'—6 1/2” F1334
E | 1 |FIRST POST TOP (6X6X4” Tube) MP 1A <
F | 1 | FIRST POST BOTTOM (6" W6X15) MP1B : < W
G | 1 | GROUND STRUT MS785 LT l ) )
H | 2 |HINGE POST UPPER MHP2A S \&
J | 2 | HINGED POST LOWER HP2B H / [ =
K | 5 | STEEL LINE POST & P62 1 S ' .
L | 1 |MASH BEARING PLATE ME750 i
M | 1 | CABLE ANCHOR BOX S760 &
N | 1 |BCT CABLE ANCHOR ASSEMBLY E770 DETAIL A DETAIL B SECTION A-A \\
O | 5 |RECYCLED PLASTIC BLOCK OR EQUIV. CBSP—14 Anchor Bracket SECTION B-B
HARDWARE (ALL DIMENSIONS IN INCHES) 7 t Head C " Post #1 f 4
a | 2 [5/16 x 1 HEX BOLT GRD 5 B5160104A mpact_riead Lonnecion 05 onpnecrion Fost #2
b | 4 [5/16 WASHER W05186
c 2 | 5/16 HEX NUT NO516 GENERAL NOTES:
d |18 |5/8 x 1 1/4 SPUCE BOLT B580122 1. All bolts, nuts, cable assemblies, cable anchors and bearing plates shall be galvanized.
e | 2 |5/8 x 9 HEX BOLT GRD 5 BS80904A 2. The lower sections of the posts I, 2 and 3 shall not protrude more than 4 in above the
f 5 |5/8 x 10 H.G.R. BOLT B581002 ground (measured along a 5 cord). Site grading may be necessary fo meet this
9 3 5/ 8 WASHER WO50 f@QU/./-ement DEPARTMEZ?Z)EFO;RH:VI\\IMS\I::’ORTATION
h | 25 |5/8 H.G.R NUT NO50 3. The lower sections of the hinged posts should not be driven with the upper post affached. o censed | HIGHWAYS DIVISION
j 1 |5/8 x 5” BOLT FULL THREAD GRD A449 B580504A IT the post is placed in a drilled hole, the backfill material must be satisfactorily Engineer MASH MFLEAT
< | 1 |5/8 HEX NUT NO55 compacted to prevent settlement.
T2 [3/4 x 8 1/2 HEX BOLT GRD A449 33108508 4. When competent rock is encountered, a 12"% post hole, 20 in. deep cored into the rock FLARED END TERMINAL
surface may be used it approved by the engineer for Posts | and/or 2. Granular material
m ; f/ :NCHHESRNgZBLE — E?gg will be placed in the bottom of the hole, approximately 2.5" deep to provide drainage. The o — d MAMALAHOA HIGHWAY
n first and/or second post can be field cut fo length, placed in the hole and backfilled with " ipeciion e et of SAFETY IMPROVEMENTS
© | 2 |1 ANCHOR CABLE WASHER w109 suitable backfill. The soil plate may be trimmed if required. prolee’ il be under my “ervation Last and West of Puuwaawaa Ranch
p | 8 |1/2 RSI SHOULDER BOLT W/WASHER >B12A 5. The breakaway cable assembly must be taut. A locking device (vice grips or channel lock %z»m Federal Aid Project No. HSIP-0190(018)
q | 8 |1/2 STRUCTURAL NUT NOT2A pliers) should be used to prevent the cable from twisting when tightening nuts. Expiration Date of License 4/24 Scale: NTS Date: July 2022
- | 8 |1/2 STRUCTURAL WASHER WO12A

SHEET No. 4 OF 7 SHEETS

12




o
m
3
.
E >.‘CQ>_‘
8>>m£m
AMMA=A
nED
§§EZHM
>=202820
XS SASHE
2READD
2 |3
S
ZZ |2
OJ [m
i 5
S |2 e

-MASH Test Level 3 (TL-3) Length of SoffStop Terminal

NOTE:
Install rail parallel fo roadway edge line. When
faper s required by Design Engineer a 25:
faper of the length of the system is allowable.

Length
of Need 1

¢ of Posts @ _ Ground Strut
\ See Deftail "C"

i

FED.ROAD | oo\oo FED. AID FISCAL | SHEET | TOTAL
DIST. NO. PROJ. NO. YEAR NO. SHEETS
awai | Haw. | HSTP-0190008) | 2022 | 13 70

3///

%'8x10" HGR /

i i % i i .
\ (& | /
‘{ [o o o o o o o o \3/ ® g
¢ of Anchor Post & Post
SoftStop Head / © ©
[3-5"% See Detail “B"
8 7 6 5 4 3 2 ! 0
Q 6/_3// Q 6/_3// Q 5/_3// Q 6/_3// Q 6/_3// () 6/_ 3// Q 5/_8// Q 4/_7// C)
5/16"8x1 1/2" Hex HD| Bolt -4l See Nofe 5 . <— Center of
’% ¢ with Nut and Washers : { ﬁefe@ef}c;‘:‘ Lg?e J Anchor Post
| | | 1 | 1 Under Bolt Head and Nut —=C | arajiel 1o thade SoftStop Head
Sl ° l o ° ° o ° l t Al —
\ / . / / u o= See Note 4
WGS Guardrail MGS Guardrail SoftStop Anchor /L, \
Guardrail Panel Grade Line | ,ﬁ:
Y Y %/ *
a A Do not Attach / )\ Y /
Rail at Post #2 See Detail "D _ o
S See Detail "A"
N
L ! : ! oL : ! X
\%B
Posts
G/’OU/?d Sf/‘Uf 5/n " ;
ol \ A o oy
VOTES. Under Bolt Head and Nut verfical Leg is bown) Bolf fead and Nuf
o va Flattened SoftStop % ;:{
. Refer to SoftStop Assembly Manual Post ¥~ ﬁ] 54 Anchor Guardraif \ . ” '#x2 Y4’ Hex HD Bolt S ot 14 Hox HD Bolf —
2. SoftStop is a MASH Test Level 3 (TL-3) End Treatment (W6 x 8.5%) = 7 | N ) | / with Nut and Washers I e e .
3. All steel components HDG to AS/NZS4680. A #__-ﬁ Under Bolf Head and Nuf Under Bolt Head and Nut Al
4. Manufacturer suggests customer to provide / Qe |I 1T
reflectorization of the terminal. , AT - SoffStop Head
5. It s acceptable fo install the SoftStop head parallel fo ’ /
the grade line or with an upward tilt. See SoftStop Guardrail Anchor Plate L=

Assembly Manual for specific deftails.

Post —=

W6x8.5%

Post Bolt with

HGR Nut

MGS Guardrail
Block \ / Pane/

/EE

|

g

3///__/_///

NI

SECTION “C-C”

Posts #3 - #8

NI

Yielding Holes
Approximately Centered \
at Ground Line

DETAIL "C”

Post #1, Shown Near Ground

Block \

Do Not Attach Rail
/ at Post #2

Post ——=
W6 x8.5%

54" Bx10" HGR ]
Post Bolt with
HGR Nut

6

|

—

V'8 x 2 V" Hex HD Bolt
with Nut and Washers Under

Bolt Head and Nut (Orient
Bolt so Nut is on Top)

3///1_///

Guardrail Anchor Plate

Ground Line

NI

Flattened SoftStop
Anchor Guardrail l
T |

NI

Anchor Post Angles

DETAIL "B”
at Anchor Post #0

1"8 x 12" All
Thread Rod

3%" Min)

Pl

(Four Plies)
\W§r3

Ground Strut (Orient so
Vertical Leg is Down)

Anchor /

Angle

Anchor Post /

Post

Wex15%#

SECTION "B-B”

Post #2

DETAIL "A"”
At Anchor Post #0

\ 1" Hex Nut
and Washer

%" Thk Anchor
Plate Washer

51" Max.

Thread a Min. 50mm of the
Paddle Rod into the Anchor
Paddle. View Thread through
Site Hole fo Determine
Adequate Thread Engagement

Post #1 \

Anchor Keeper Plate (24 GA)

Sure it is Tight

%" Thk. Anchor
Plate Washer

2bmm Thk. Sloping Plate
Part of Anchor Post

Licensed
Professional
Engineer

This work was prepared by me or under
my supervision and construction of this
project will be under my observation.

Y

—
—1

DETAIL “D”
Post #1

After Final Assembly,
Recheck Nut fo be

STATE OF HAWAII

DEPARTMENT OF TRANSPORTATION
HIGHWAYS DIVISION

SOFTSTORP END TERMINAL

MAMALAHOA HIGHWAY
SAFETY IMPROVEMENTS

Fast and West of Puuwaawaa Ranch

Federal Aid Project No. HSIP-0190(018)

Expiration Date of License

Scale: NTS

4/24

Date: July 2022

SHEET No. 5 OF

7 SHEETS

13




. FED. ROAD STATE FED. AID FISCAL SHEET TOTAL
Attach rubrail to rear or ,DOSf DIST. NO. PROJ. NO. YEAR NO. SHEETS
w{z‘h Rail boh;Ga/v. (hot-dip Hawal | Haw. | HSTP-0190(08) | 2022 | 14 70
[Z)Ir/);? cosfed; 8% x 4" long Location of End Anchorage —Location of End Anchorage General Nores
o and Block when offset distance ?,fgfnk fggegn?f:;fjfsggggce . All posts are 6-0" in length within the
from fangent rail section to bank ,% 4-8" 1o 6-7" 50-0" pay limit for the Modified Type "A-1"
fo bank is 0-0" to 4'-7". — ' Flare without rubrail.
—Location of End Anchorage 2.  Whenever swales or a change in grade is
Field bend Block when offset distance encountered within the 50-0" pay limit for
from tangent rail section the Modified Type “A-1" Flare, a rubrail
v Mipimum to bank is 6-8" to 9-5". shall be installed and all posts shall have
o 25'-0 : oS of CU - a minimum embedment of 4-0". Post lengths
72" (min.) to —~c to fit field condition ToD . : . ol
—~ Warranfing Feafure - Distance \{8!’185 ot for Rubrail Location of End Anchorage shall be adjusted to provide the minimum
Limit of Payme Block when offset distance embedment.
_ from fangent rail section 3. Al fasteners, posts, blocks and rail elements
I'oe of Fill 2 fo bank is greafer than 95" shall conform to the latest edition and
A B ."“ amendments of "A Guide to Standardized
Provide Rubrail when 1. o Invert of Gutter Highway Barrier Rail Hardware”, a report
6-3" called for in the plans % 710 / prepared and approved by the AASHTO-
D) ' . R B e L AGCARTBA Joint Cooperative Committee
A - Measured a/ong and HDOT's Statewide Guideline for
; ; ; ; e rail face Permanent Highway Safety Hardware.
~ L Edge of - 250" =|ﬁ 25-0" _ 4. Limit of payment for; Modified Type “A-1"
Paved Shoulder 'Double Nested W-Beam ﬂj/’l; %/fvgaj’/%’u[fra%‘? (S/h (: ,’; O;”p 5/{::20/5@/306
( / ’
566‘ gcl)es‘;afslggcﬂgy o Anchor Block and GRP work.
A B Pl AN 5.  Excavation, Anchor Block and GRP
— work shall be considered incidental
Design speed . fo the Modified Type “A-1" Flare.
g[rnphp a:b \:_ Height of guardrail is parallel yP
68 15.] ’ fo shoulder grade .%6\
\
62 131 L W« &
. I I I I I i i f i fi i i i i — T \ @
56 12:1 | l I ” l i |_| l H ” “ H “ ;; “ “ ” [ R /R R i 1 \OV
50 1. - - - A 2
: \_ \ oy
43 10:] o oy Concrefe ¢ . N
37 9 189" |63 anchor  block “uardraiy S N
° , . ™~ 9”
3 £l 50' Guardrail Grouted Rubble
. o Paving
Pay Limit for Modified T “A-1" F1
Poved y Limit for Modified Type are Cur Slope o Backfill
Paved Area * Posts at 312" oc. Metal Guardrail - I\3'X3'X3' Conc
‘ ‘ ‘ ‘ ‘ | ANCHOR BLOCK IN CUT SECTION
=== o= o= I — ro\ 9:!
] O 12" Min
Section A-A Cuararay, L8§ \0% 0.5H:1V
G.R.P 3'x3'x3" (or Varies) Metal ,\% T
- o °ﬁ\r-ﬂ-“"" Conc. Anchor Block Guardrail— ¢ Grouted Rubble
5 Ve Buried in Cut Section \ : STATE OF HAWAII
:% L& _ Paved | Paved _ Cgtllafdf;’if/ Vo -'\.'\ \ - WOZLL Faving oo DEPARTMENT OF TRANSPORTATION
EEEEEE - — - Vel ) - gt . Professional HIGHWAYS DIVISION
e Shoulder Area - emen \ \” Special End Shoe for Ut Siope kN Backfill Sfession
oot 0 Details See Sheet B-3 _ | N MODIFIED TYPE "A-1" FLARE
- S%s x T Metal Rubrail (when applicable) | 3 3'x3'xVaries Conc.
. |2 Lgng ot 75+ | Anchor Block MAMALAHOA HIGHWAY
= 10/ e e oot o SAFETY IMPROVEMENTS
z 2 max ||Q\ PIAN - ANCHOR BLOCK IN CUT SECTION ANCHOR BLOCK IN CUT SECTION project wil be under my observation. East and West of Puuwaawaa Ranch
=y e Ot e e eI %z,% Federal Aid Project No. HS1P-0190(018)
. | z%
Section B-B ‘J VM Expiration Date of License 4/24 Scale: NTS Date: July 2027
SHEET No. 6 OF /7 SHEETS

14



SURVEY PLOTTED BY

DRAWN BY

TRACED BY

DESIGNED BY

QUANTITIES BY.
CHECKED BY

ORIGINAL

PLAN
NOTE BOOK

No.

W-Beam Rail 6 x 8.5
\ Steel Post
Offset Block

or Blockout -

Plan

Offset Block
or Blockout 6 x 8.5
\ Steel Post

;;_95/831

““‘1\
I { RNZNZN
I [ S
| %
| [ O
L |E
|
TS
| S
| &
I B |
Elevation

STRONG POST W-BEAM GUARDRAIL

End of insert "
2 Y62 bars to be
o be c/osed—\-— - yded fo inserts
C“/-\Q ______
lhreaded inserts for G NN | @ .
M24 x 50 galv. hex ™ ™
head cap screws ]:M—- ------------ Q=TT 1
Cap screws 1o Dey &n ‘ S R R
threaded a min. 17" = Al
Inserts threaded min ) %u
of 137 5 | e

ANCHOR ASSEMBLY
CONCRETE BLOCK ANCHOR

-0 3-0" s
C = () S
S U L | 8
GRP —~ 5
x A
Anchor assembly for threaded ! Q
inserts (see detail this sheet) — : &
!
s(!" Y
,r_On 3 - #4 HOOpS
— 4;;____ 2;_6” X 2:_6u
— g -
Terminal connector RWEQ2b 4=
= M S
\ e L S
= QC —— \ b/ |
e
[ — D I o E\—) "f\-..
[a—) [a— o {-‘Y) ’
o — J+|r// PR
I ..:
S [ | o A SD
— — | | Eﬁ* ()
[a—) |b © ~
= o T | &
;.
Rubrail (when aDDlicab/e)/ sl :_@,é L\ ﬂ\ !
- 3-0" 3 -#4 pars 2-4" long
Elevation
CONCRETE BLOCK ANCHOR
(3 X 3 X 3)

BACKSLOPE ANCHOR TERMINAL END ANCHORAGE DETAILS

MODIFIED TYPE "A-1" FLARE

Licensed
Professional
Engineer

This work was prepared by me or under SAFETY ]MPRO\/EMENTS

my supervision and construction of this

project will be under my observation. Easf and Wesf Of Puuwaawaa RanCh

o ran

FED. ROAD STATE FED. AID FISCAL SHEET TOTAL
DIST. NO. PROJ. NO. YEAR NO. SHEETS

wawal | Hawe | HSTP-01900018) | 2022 15 70

Note:

All fasteners, posts, blocks and rail
elements shall conform to the latest
edition and amendments of "A Guide fo
Standardized Highway Barrier Rail
Hardware,” a report prepared and
approved by the AASHTO-AGCART BA
Joint Cooperative Committee and HDOT's
Statewide Guideline for Permanent
Highway Safely Hardware.

STATE OF HAWAII
DEPARTMENT OF TRANSPORTATION
HIGHWAYS DIVISION

MODIFIED [YPE "A-1" FLARE
MAMALAHOA HIGHWAY

Federal Aid Project No. HSIP-0190(018)

Expiration Date of License

44 | Scale: NTS Date: July 2022
SHEETNo. 7 OF 7 SHEETS

15






